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BEARE SHBERE REBIIBHRESERTHIEERH (SIELE)

£ R B - iR B = i ® B S
B & R 2,332, 151
2,395, 435 63, 284
ERFRIEERS (A) 2,332,151
2,395,435 63,284
B FIRIEERET (A) 2.332. 151
2,395,435 63,284
ERFIRIBIERET (A) 2,078, 234
2,139,134 60, 900
EBERFHEEESRT (A)
1,034, 142
1 EREtatE
km 1. 30 193,178 251,131
2 BPE
km 1. 30 125, 186 162, 741
3 BRIRETE
km 1. 30 55, 226 71,793
4 BRETER UBREE & ORBEERER
km 1. 30 300, 938 391, 219
S MMIETEEHEH
km 1. 30 120, 968 157, 258
R
499,792
6 BERUVBREEIER
km 1. 30 197, 802 257,142
T &HRARF vy o— MER
I7E 1.00 26, 050 26, 050
8 BRETEEEER
E3 1.00 89, 400 89, 400
9 ABARRRMIERL
x5 1.00 127, 200 127, 200
& - ]S 544, 300
605, 200 60, 900
10 #%&EFH
=l 1.00 84, 500 84, 500
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% 5 & - Bk B g B & & B E
11 A
& 3.00 84, 500 253, 500
12 RS MARS
6 .00 84, 500 84, 500
13 BREEITEEHE 200 60, 900 121, 800
6 3.00 60, 900 182, 700 60, 900
EERE 253,917
256, 301 2,384
R 215, 000
217,000 2, 000
14 BEFRRRERE .00 215, 000 215, 000
= .00 217,000 217,000 2,000
TR HARREAR
25, 825
15 BFETEMERN
= .00 25, 825 25, 825
WREXEE 13,092
13,476 384
16 & (L AREEETETR) .00 13,092 13,092
= .00 13,476 13,476 384
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% g & - BAKTik B 8 = B £ %5 B =

E#ZR 1 2,078,234 + 253,917 2,332,151
2,139,134 + 256, 301 2,395,435 63, 284

BEEAGE 2.078, 234
2,139,134 60, 900

EERR 253,917
256, 301 2,384

T Ot R 2,078,234 x 53.85% ( 35% +~ (1 — 35%) ) 1,119, 129
2,139,134 x 53.85% ( 35% =+ (1 — 35%) ) 1,151,923 32, 794

XBRIE 2,332,151 + 1,119, 129 3,451, 280
2,395,435 + 1,151,923 3,547, 358 96,078

—REEEE 3,451,280 x 53.85% ( 35% = (1 — 35%) ) — 9,794 1,848, 720
3,547,358 x 53.85% (35% ~ (1 — 35%) ) — 7,610 1,902, 642 53,922

RHBmAE 3,451,280 + 1,848,720 5, 300, 000
3,547,358 + 1,902, 642 5, 450, 000 150, 000

HEREHESE 5,300,000 x 10.00% 530, 000
5,450,000 x 10. 00% 545, 000 15, 000

XHEREH 5,300,000 + 530, 000 5, 830, 000
5,450,000 + 545,000 5, 995, 000 165, 000
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F{EHRED (GREH)
A 0.50 64, 800. 00 32,400
A (A)
A 0.50 57, 000. 00 28, 500
& it YEZ8EA - 1.00[= 60, 900. 00 60, 900
EE 14
2 BEFRERERE IES=1D)
4 E HE - kT ==X v] = B Of %8 ] g &
BEFRRMERE
= 1.00 217,000. 00 217, 000
=1 it YEZ8EH - 1. 00K 217,000. 00 217,000
‘LS .16
B RE (EAREHES 1Ry
% b R - KT ==X va = B L] ] i &
RE (EREFEER) EEAEEDO. 63%
=® 1.00 13,476.00 13,476
=) it YEX¥REH : 1.00=X 13,476.00 13,476






